MONTAGEANLEITUNG

ASSEMBLY INSTRUCTION
Bett Bellmund

Anzahl Bezeichnung
A 2 Seitenbalken
Bl 1 FuBbalken
B2 1 Kopfbalken
C 4 FuB
E 1 Mittelsteg
F1 1 Baumkante
F2 1 Kopfteil leisten
G 2 Kopfteil halter
1] 2] 3] 4] 5 | 6 | 7 8 | 9]
M8x70 M8x50 | M6x50 Mex60 | 35%x?0 [ vigx16 2

@) \
(e | (== | P | Ty, (en 6 & Q
x4 x8 x4 x8 x12 | x2 X2 X2 X2

SEITE 1




MONTAGEANLEITUNG

ASSEMBLY INSTRUCTION
Bett Bellmund

M8x70

x4

M8x50 [

X8

SEITE 2




MONTAGEANLEITUNG

ASSEMBLY INSTRUCTION
Bett Bellmund

5
350 [ Mex16 2
AN |

x12 X2 x2 x2 x2

SEITE 3




MONTAGEANLEITUNG
ASSEMBLY INSTRUCTION

Bett Bellmund
— 4
-y 4 —n F1 : x4
x4 .
F2 ‘_/G

M6x50 M6x60

x4 x8

SEITE 4




